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1.

ADULT EDUCATION
Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

Which of the following is not the
objective of universalization of
primary education ?

(A) Universal Provision

(B) Universal Supervision

(C) Universal Enrolment

(D) Universal Relention

One of the social objectives of

extension education is

(A) Restoration of caste and culture
harmony

(B) Increase income

(C) Training of artisans

(D) None of the above

Provision of ‘Right to Equality’ has
been  incorporated in  Indian
Constitution under the articles

(A) 16to 20 (B) 15to19
(C) 14t018 (D) 13to17

Which of the following is an example
of a community ?

(A) Family
(B) Marriage
(C) Village

(D) Refugee camp

As per 2011 census (Final data) the
literacy rates in rural and urban areas
of the country stands at

(A) 70.3% and 83.1% respectively
(B) 67.8% and 84.1% respectively
(C) 65.3% and 82.6% respectively
(D) 69.2% and 78.9% respectively

‘Nirman Bharat Abhiyan’ Yojana is

associated with

(A) Development of villages

(B) Community toilets in slum
areas

(C) Construction of houses for low
income groups

(D) None of the above
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7.

10.

11.

Adult learning process includes :
l. From whole to part

Il.  From simple to complex
I11.  From direct to indirect

IV. From invisible to visible
Codes :

(A) I, 11, 1V are correct
(B) I, I1, Il are correct
(C) I, I, 1V are correct
(D) I, 1l 1V are correct

The main objective of “Education for

all” is to be

(A) Promote to learning society

(B) Promote to economic
development

(C) Promote to health facilities
development

(D) Promote to child education

Main objective of the National Policy
on Women Empowerment 2001 was

(A) Women’s progress
development and
empowerment

(B) Education for women

(C) Economic development of
women

(D) Health facilities development
for women

Education technology is

(A) use of books

(B) use of material

(C) use of learning theories
(D) use of teaching techniques

Training is treated as

I.  Two sided process

Il.  One sided process

I1l.  Systematic process

IV. Planned process

Choose right code given below :

(A) I, 11, 1V are correct
(B) 11, I, 1V are correct
(C) I, 11, Il are correct
(D) I, I, IV are correct
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12.

13.

14.

15.

Population education deals with
l. Death rate

I1.  Population situation

I1l.  Quality of life

IV. Economic growth

Choose right code given below :

(A) I, 11, IV are correct

(B) I, I, 11l are correct

(C) I, I, 1V are correct

(D) I, I, 1V are correct

Which of the following were

included in five technology missions
in 1988 ?

l. Immunization

Il.  Literacy

I1l.  Energy

IV. Communication

Choose right code given below :

(A) I, 11, Il are correct
(B) 11, I, 1V are correct
(C) I 1, IV are correct
(D) I, I, 1V are correct

Which of the following components
are essential in any type of
communication ?

I. A communicator

Il. A massage

I1l. A sentence

IV. Areceiver

Choose right code given below :

(A) I, I, IV are correct
(B) I, 11, 1l are correct
(C) I, I, 1V are correct
(D) I, 11,1V are correct

The four pillars of ‘Sakshar Bharat’
are

l. Functional Literacy

Il.  Moral Education

I1l.  Basic Education

IV. Vocational SKill Development

V. Continuing Education
Programmes

Choose right code given below :

(A) I, 11, 1V, V are correct

(B) I, 11,111, IV are correct

(C) M, I, 1V, V are correct

(D) I, 1,1V, V are correct
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16.

17.

18.

19.

Pilot survey is conducted

I.  After finishing research

I1.  Inthe beginning of a research
I1l. in the middle of a research

IV. before conducting of a research
Codes :

(A) landIl are correct

(B) Il andIll are correct

(C) Hland IV are correct

(D) I and IV are correct

Which of the following are more
closer to extension education ?

l. Need based education

Il.  Formal education

I1l.  Flexible education

IV. Multidimensional education

V. School education

Codes :

(A) I, 11l &1V are correct
(B) 1,1V &YV are correct
(C) I, 1l &V are correct

(D) V, 1 &Il are correct

Quiality education means

I Improvement of education
system

II. Improvement of  teacher
students relationship

1. Improvement of transport
facility to all

IV. Improvement of teaching
technology

Codes :

(A) I, 11l &1V are correct

(B) I, 11 &IV are correct

(C) 1, 1 &Il are correct

(D) I, Il & 1l are correct

Skills of a leader include

l. Humanistic skills

Il.  Conceptual skills

I11.  Employment skills
IV. Efficiency skills
Codes :

(A) land Il are correct
(B) [landlIl are correct
(C) Hland IV are correct
(D) 1l and Il are correct
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16.

17.

18.

19.
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20.

21.

22.

Characteristics of adult learner

include

l. Remediation attitude
Il.  Motivation attitude
I1l.  Experience attitude
IV. Indolence attitude
Codes :

(A) land Il are correct
(B) Iland IV are correct
(C) Hland 1V are correct
(D) land IV are correct

Assertion (A) : Formative evaluation
Is important for monitoring of
adult education.

Reason (R) :  Adult teaching
techniques are more important
for adult education programme.

Codes :

(A) (A) is correct, but (R) is wrong.

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) (A) iswrong, but (R) is correct.

(D) (R) iswrong, but (A) is correct.

Assertion (A) : The development of
higher education in India is a
responsibility of central govt.

Reason (R) : The higher education
system of India is supported by
each & every state government
too.

Codes :

(A) (A) is correct, but (R) is wrong.

(B) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(C) Both (A) and (R) are wrong.

(D) Both (A) and (R) are correct

and (R) is a correct
explanation of (A).

Paper-11

23.

24,

25.

Assertion (A) : Computer application
in adult education, is important
for research and evaluation.

Reason (R) : Information technology
is helpful for adult learning.

Codes :

(A) (A) is true, but (R) is wrong.

(B) Both (A) and (R) are wrong.

(C) Both (A) and (R) are correct
and (R) is a correct
explanation of (A).

(D) Both (A) and (R) are correct,

but (R) is not correct
explanation of (A).
Assertion (A) : Motivation  implies

any emotion or desire which so

conditions one’s will that
individual is propelled in to
action.

Reason (R) : Motivation means a

process, by which peoples start
to move to achieve goals.

Codes :

(A) (A)is correct, but (R) is wrong.

(B) (A) iswrong, but (R) is correct.

(C) Both (A) and (R) are correct
and (R) is not correct
explanation of (A).

(D) Both (A) and (R) are correct,
and (R) is correct explanation
of (A).

Assertion (A) : India is a developing
nation with poor people.

Reason (R) : People of India are still
under poverty.

Codes :

(A) (A)is correct, but (R) is wrong.

(B) (R)is correct, but (A) is wrong.

(C) Both (A) and (R) are correct,
but (R) is not correct
explanation of (A).

(D) Both (A) and (R) are correct,
and (R) is correct explanation
of (A).
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24,

25.
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26.

27.

28.

29.

Assertion (A) : Extension  activities
give an exposure to the
university students and teachers.

Reason (R) : Extension is the ‘Third
important dimension of higher
education’.

Codes :

(A) (A) is correct and (R) is false.

(B) (A)is false and (R) is correct.

(C) (A)and (R) are false.

(D) (A) and (R) are correct.

Assertion (A) : Adults
simple to complex.

Reason (R) : Adult learning is a
rapid-process.

Codes :

(A) (A) is correct and (R) is false.

(B) (A) is false and (R) is correct.

(C) (A) and (R) are correct.

(D) (A)and (R) are false.

learns from

Assertion (A) : Education helps in
developing human resource in a
country.

Reason (R) : Literacy is the first step
in educational process.

Codes :

(A) (A)is correct and (R) is false.

(B) (A) is false and (R) is correct.

(C) (A)and (R) are correct.

(D) (A) and (R) are false.

Assertion (A) : Trained man power is
the biggest asset to an
organisation.

Reason (R) : Training is a systematic
process to improve the acquired
abilities of the workers.

Codes :

(A) (A) is correct and (R) is false.

(B) (A)is false and (R) is correct.

(C) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(D) Both (A) and (R) are correct,
and (R) is not the correct
explanation of (A).
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30.

31.

32.

33.

Assertion (A) : Adoption of
innovation is a mental process.

Reason (R) : Adoption  rate  of
innovation is  higher in
communities favourable to
change.

Codes :

(A) (A) is correct and (R) is false.

(B) (A)is false and (R) is correct.

(C) (A) and (R) are correct.

(D) (A) and (R) are false.

Arrange the following in correct
order of their implementation.
(i) MNP

(i)  Community Development
(iii) IRDP

(iv) Total literacy campaign
Codes :

(A) (i), Gii), i), ()

(B) (i), (iD), (iv), (iii)

(C)  (iv), (i), (i), (iii)

(D) (i), (iv), (i), (i)

Arrange the following programmes
in order of their implementation.
(i)  Saakshar Bharat

(i) CEC

(iii) PLC

(iv) TLC

Codes :

(A) (), i) (iid), (iv)

(B) (i), (i), (i), (iv)

(C) (i), (i), (i), (iv)

(D) (iv), (iii), (i), (i)

Arrange the following in order they
appeared :

(i)  Non formal education
(i)  Extension education
(iif) Continuing education
(iv) Social education
Codes :

(A) (i), (i), i), (iv)

(B)  (iv), (i), (iii), (ii)

(C) (i), (ii), (iv), (i)

(D) (i), iii), (i), (iv)
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(D) (A) T (R) Toid € |

Aty (A) . ufTfed oa wife forst
e i Gad FE! Yot ¢ |
HROT(R) :  URMETT  wEwaet |
fAfed rraarett & 3= # FHHEIS
T € |

(A) (A)Tel g @ (R) Tod € |

(B) (A) e € a=n (R) el € |

(C) (A) T (R) SHI Wl & @ (R),
(A) & el AT |

(D) (A) @ (R) qHI Tl & T4 (R),
(A) Tl TE AR TEl ¢ |
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30.

31.

32.

33.

AWHYT (A) : FAER FH MY TH
AR TfshaT & |

FHRUT(R): URaeH & U oF et
TR B TR SR 5 ST
FAE |

(A) (A) @& e T (R) @ s |

(B) (A) i & @ (R) Wl € |

(C) (A) T (R) W€ |

(D) (A) @ (R) Tod € |

fr=fefad st 9% AN 8 % THAER
TEl B T AR P T TEl ST B
ERE] :

(i) oM AR @
(iv) SPIOT |ERar ShTEE
aﬁ:c,"

(A) (i), (i), (i), (iv)

(B) (i), (i), (iv), (iii)

(C)  (iv), (ii), (i), (iii)

(D) (i), (iv), (ii), (i)

Frfefad SrsEAr # 39% AN] B &
THATIHR Wel 3 JINT ST Tel 3T &l
Fe T TIT HIT

() aeRuRE

(i) drLa

(i) e

(iv) e

m.

(A) (1), (i), (iii), (iv)

(B) (i), (i), (i), (iv)

(C) (i), (i), (i), (iv)

(D) (iv), (iii), (i), (i)

ffefad & 3T sfawiergEr
A HINT 3R P T T&l S B
T BT

(i) R 3fo=ies forem

(i) v frem

(iii) e ferem

(iv) T forem
aﬁg‘ .

(A) (i), (i), (iii), (iv)
(B) (iv), (i), (iii), (i)
(C) (iii), (i), (iv), (i)
(D) (i), (iii), (i), (iv)
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34.

35.

36.

Arrange the following stages of
communication in order of the best
sequence :

(i) Receiver

(i)  Source

(iti) Coding

(iv) Decoding
Codes :

(A) (@), (ii), (iv), (i)
(B) (iii), (i), (i), (iv)
(€ (i), (@), (iii), (iv)
(D) (iv), (iii), (i), (i)

Arrange the following as they
appeared in ascending order by using
the code given below :

(i)  Open Schooling

(i)  Adult literacy centre

(iii) Continuing education centre
(iv) Post literacy centre

Codes :

(A) (@), (i), (i), (iv)

(B) (i), (i), (i), (iv)

(©) (i), (iv), (iii), (i)

(D) (iv), (iii), (i), (i)

Arrange the following programme
implemented in order by using the
code given below :

(i) FFLP

(i) MPFL

(iii) NAEP

(iv) NLM

Codes :

(A) (i), (i), (iii), (iv)
(B) (iii), (i), (i), (iv)
(C) (), (i), (iii), (iv)
(D) (iv), (iii), (i), (i)

Paper-11

37.

38.

39.

40.

Arrange the following media in order
in which they are popularly used in
adult education. Use the codes given
below :

(i) Radio

(i) Folk arts, Kalajatha

(iii) Print media

(iv) Television

Codes :

(A (iv), (i), Gii), ()

(B) (i), (i), (iii), (iv)

(€) (i), (i), (iii), (iv)

(D) (i), (i), (i), (iv)

Put the correct sequence of
Hierarchical theory of needs :
(i) social needs

(if)  self actualization

(iii) physiological needs
(iv) basic need

Codes :

(A (i), (i), (iii), (iv)

(B) (i), (iv), (i), (iii)

(C) (i), (i), (i), (iii)

(D) (iv), (iii), (i), (i)

Choose the correct sequence of
growth of  educational and
communication technologies.

(i)  Visual

(i)  Audio-visual

(iii) Interactive

(iv) Audio

Codes :

(A) (), (i), (iii), (iv)

(B) (i), (iii), (iv), (i)

(C) (iv), (i), (i), (iii)

(D) (iii), (iv), (i), (ii)

Arrange the following management
steps in order by using the code
given below :
(i)  Implementation
(i)  Planning
(iif) Evaluation
(iv) Monitoring
Codes :
(A) (), (i), (iii), (iv)
(B) (i), (i), (iv), (iii)
(C) (i), (i), (0), (iv)
(D) (@), (i), (iv), (i)
D-46-13



34, HOR % Hfaiad faf=1 geeE o el

35.

36.

FH T 3R F T el IR A T
FHIT

(i) v

(i) =

(i) e

(iv) SeifeT

HIE

(A) (@), (i), (iv), (iii)
(B) (iii), (i), (i), (iv)
(©) (i), (i), (iii), (iv)
(D) (iv), (i), (i), (i)

frafafad & 39 enfawia & e
%A H FART HIT IR F ° Tl
TR T TF HINT
(i) g formerd=
(i) Ve IR 5
(iii) T foreT
(iv) IR TR &5
WS

(A) (i), (i), (iii), (iv)
(B) (i), (i), (iii), (iv)
(C) (i), (iv), (iii), (i)
(D) (iv), (iii), (i), (i)
Ffafad ®Ewdal & @ B9 %
WWWW@@W
3T 1 TT BT ;

(i) TETRTAD

(i) T @ TE TS

(i) T

(iv) WA

WS

(A) (i), (i), (iii), (iv)

(B) (iii), (i), (i), (iv)

(C) (i), (i), (iii), (iv)

(D) (iv), (i), (i), (ii)

D-46-13
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37.

38.

39.

40.

e R & & ° WA 89 9 §OR
G 1 IH ABHIA % STAR HH
T AR P T W& SR B T
HifT ;

(i) Wear

(ii) < eI, SHotl STeT

(i) e difear

(iv) 2fefes

T

(A)  (iv), (i), (iii), (i)

(B) (i), (i), (i), (iv)

(© (), (i), (iii), (iv)

(D) (iii), (i), (i), (iv)

fffeq = goiles @O
MavIHal Mg % STER Fared
FINT 3R F Tl IW H oA

(i) WIS STTIHATY

(i) o= '

(i) NN ETTEHA

(iv) Hord 3TevIehdart

T

(A (i), (i), (i), (iv)

(8) (i), (iv), (i), (iii)

(©) (i), (i), (ii), (iii)

(D) (iv), iii), (i), (i)

ffafad Wit Td TaR drefimsiet &
AT | & TET S T T HIIT

(i)

(i) sege

(iii)  STa-TRaTTS

(iv) =1

T

(A (i), Gi), (i), (iv)

(B) (i), (iii), (iv), (i)

(©) (i), (ii), (i), (iii)

(D) (i), (iv), (i), (i)

Y & FETeRad QT s geFarerd
FINT 3R P T T&l SW B 9a4

() e (i) Ao
(iii) T (iv) iR
FT

(A) (i), (i), (ii), (iv)
(B)  (in), (i), (iv), (i)
(C) (i), (i), (i), (iv)
(D) (i), (iii), (iv), (ii)
Paper-I1



41.

42.

Match the following List-1 with List-11
by using the codes given below :

List-1 List-11

() Reading, (1) CE
Writing  and
Arithmetic

(1)  Extension (2 3R
Education

(111) Continuing 3) 3H
Education

(IV) Head, Hand (4) EE
and Heart

Codes :
(M an amn  av)

A @ @ O 6
B @ @ & @
© @ @ & @
G O & @ @

Match the following List-1 with List-11
by using the codes given below :

List-1 List-11

()  Population (1) UTA
education

(1)  National (2) PERC
Service
Scheme

(1) Adult (3) DPEP
Education

(IV) Primary (4) NAEP
Education

Codes :
(M an o  av)

A GO @ 6 @
® @ @O @ O
© @ O & @
G @ O @

Paper-11
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43.

44,

45.

Match the following List-1 with List-11
by using the codes given below :

List-1 List-11
() NLM (1) Follow up
programme
(I NAEP (2) Life long
education
() PLP (3) Center based
approach
(Iv) CEP (4) Total
literacy
compaign
Codes :
(- ayamy a1v)
(A 1 @ 3 (@)

B @ B @ @)
< 3 @ @O @
G 4 & O O

Match the following List-1 with List-11
by using the codes given below :

List-1 List-11

() National (1) 3 October
Youth Day

(I1)  National (2) 8 September
Science Day

(1) World (3) 12 January
Nature Day

(IV) International (4) 28 February
Literacy Day

Codes :
(- anmy - 1v)

A @4 3 @O @

B 3 @ @O @

€ @O @ @ @

G @ @O 6 @

Match the following List-1 with List-11
by using the codes given below :

List-1 List-11
() Casestudy (1) Innovation
(1) Flash card (2) Teaching
technique
(I11) Perceiving  (3) Method
a new idea
(V) Way of (4) Teaching aid
presentation
Codes :
0 an @ av)
A B @ O @
B 1 B @ @
© 1 @ & O
Gy @) @ B @
D-46-13



41.

42.

-1 qn gE-11 A T T e #

AT S gU GATd il
= - | =t - 1

(I) dfem wiemwoe (1)
TRemfeh

(1) wwvF EeE (2) 3R
(1) FHE=Em oy (3)  3H
(IV) s evguwogere (4) EE
HE:

n an an av)
A @ @ @O 6
B @ @ & @
© @O @ & @
G @O & @ @

CE

T U T ST FH TET Fd gT gl
AT -1 BT AT BT ;

= - | = - 1
(1) SHgenmfeT (1) 33T

(1) ILE e (2) IR
RISEI (Th)

A
TATE.

(11) g fererr (3)
(V) vrfoss frem (4)
HE

M an @ av)
A 1 @ & @
B @ @O @ @
© @ O & @
G & @ @O @

D-46-13
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43.

44,

45.

frefefed gai-1 & 9@l 9 gafed
T :

= - | =t - 1

() wWEaw (1) e
FHIHH

(1) TITEW. (2) SheAuwd<
ToreT

() dwad, (3) &5 ImRd
SUNH

(1IV) 3. (4) TEgOT QIERAT
EIEpICH

S

(N an am - (1v)
A1 2 Q) (4
B) 4 ) (i) (;)

€ 3 @ @) (@

G @ G @O @

mﬁmﬁmﬁnﬁgﬁfﬂﬁaﬁﬁq
= - =it - 1

0) Wﬁaﬂw (1) 3R
T

Iy TEFfeEm (2) 8fgaw=r
T

UDBELERE] (3) 12 S+t
e

(1V) SR (4) 28 &
e fgeg

WS
(1 an am  a1v)

A @O Q) 1) @
B 3 4 1) @
<€ @O @ @ (4
G @ @O & @

aﬁmﬁ@nﬁgﬁﬁﬁaﬁﬁqﬁ
1
1) Ha = 1) IR
(1) T FHE (2)  TerefoT
LEZIED
() TR faer (3) fafy
TEUT AT
(IV) u&qdieeer  (4)  Toretor e
& FlorT T
HE
(1 an am  av)

A3 @ O @
B @1 @ @ (@
© @ @ 3 @
G @ @ & @
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Read the passage given below and answer
the questions that followed based on your
understanding of the passage. (Question
No. 46 to 50)

In India alcoholism is the curse of the
poor strata of society. While it shatters
their health it further aggravates their
poverty so much so that their wives and
children do not get even the bare
necessities of life. Alcoholism also leads to
violence, marital conflict, family
disorganizations and increase in mental
tensions and diseases. In the west, on the
other hand, alcoholism has not much
relationship with poverty. Drinks are very
much a part of their life and alcoholism is
the result of excess of resources. While it
does affect the physical and mental health
of the person concerned it does not create
so much concerned it does not create so
much hardships for wife and children as in
the case of India.

India is a poor country. Most of the
people are even below subsistence level.
Nutrition is not sufficient even for the
middle class people. Hence alcoholism
creates to much hardship. It is therefore,
absolutely necessary that the sale of wines
and intoxicants should be limited to card-
holders and not to every one. Mass
awareness against alcoholism should also
be created at various level by government
and non-government organisations to root
it out.

46. The author of the paragraph is
presenting

(A) avery coherent argument
(B) avery disorganized argument
(C) avery clear argument

(D) an unwarranted argument

47.

48.

49.

50.

The author feels that alcoholism
leads to

(A)
(B)
©)

(D)

Aggravates their poverty
Spoils their wives and children

Violence and

disintegration

All the above

family

The writer focused and stressed the
evils of alcoholism in the west.

(A)

(B)

(©)

(D)

Drinks are very much part of
their life.

Alcoholism is the result of
excess of resources.

Does not affect the physical
and mental health.

None of the above

The writer is trying to explain that
alcoholism in the west does not have
direct relationship with

(A)
(B)
(©)
(D)

Poverty
Mental health
Nutrition

All the above

The author suggest to curb the bad
practices of alcoholism in India.

(A)

(B)
(©)
(D)

Paper-11
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To provide alcohol only for
card holders

To rich people
To Government servant

To Non-government employees
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T ST ST T Uiy 3R ST=% i YUY
TES % YR W IFH WO [T e
(46 ¥ 50) % 3T ST |

TEUH 9RAE GEN & 9 @t @
TR & | T8 7o e i ot femmrean & 8,
IS HEAA B T G a% Tl ol ¢ R
S UNERT Sl STa S Gerd STevghand off
Bl B A B | B e | e B 2
RERe fomeT & amar ¢ i 399 qHas
TE 3T S Sgdt § | W] uves
T SR HEAF A HEa1 § T AR ey
Tl ¥ | AU 3% Se HT Uh S W
TRITT Al hl Sgetal T URANT ¥ | IE
TrEd AT & RN a7 AHES e
a1 et & Reg 39 TNaR & foau =+
HiSTEAT URT el AT | ST foF MRA A ¥ |

IRA TH FE9 39§ | e Siee
fraie TR @ = Siem-am= &= & | qeget
% foT of [ Uiftes MR SUesy el € |
AT HicAgal UaT Al & | TTT I8
ETEH ¢ fF AR 3R 3T HIEh G i
AT IS Blee i AT ST, Ucdsh AR
Tl | afeE & faes SH-ga AH % faw
3MH TR W THRT 3R TR WHRT et
FHE FHIAT AMEY Mk TRA H 9 U 3=
SO TRl ST | |

46. TT TR % ORI o W fHAT &
(A) =Ed I T
(B) wEq sreiod T
(C) =gd T TH

(D) U SFERT dh

47.

48.

49.

50.

D-46-13
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TR & TR &
(A)  Frear sedt & |

(B) ! Ufctal 3R s=ai # fermre Ut
HA E |

(C) Fan 3R wianiies e
(D) SIS Tt

T TR I @S I 9 W HSI §
3R TgaT ¥ %% @ § o Ived H TedH

1 AT & -

(A) TR 39 e &1 3T E |

(B) WO &fAi I g 1 IRUMH
T

(C) ¥ VIRIN Ua AMEs @Red i
TIfere Tel e |

(D) SWiwd ¥ H g Tl |

TRITST TIgeh T8 T T T TaT X ®
¢ fo& ofvem 9 UM & 9 e
T R €

(A) FeFar

(B) WHH @

(C) Tiftzshar

(D) SWIe Tt

oHEeh YRA | HIGIA 61 3T i Ted

F & T D |1 gera a2

(A) =T
3T |

(B) WM 3THIX T =l &1 ST |

(C) T TR HEAMET i JT ST |

(D) AT TR WHRT HHAMET B &
ST |

hadd  Fe-gleel &l
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